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Answer all the questions. . - R
® Select the most suitable answer and underhne lt. i e

01. Which of the following element is avallable in the human body w1th the hlghest percentage in

weight? - o, o
(1) Carbon i
(2) Hydrogen

02. Which of the following carbohydrate is available in human liver and in r'nt_lseles? %

(1) Cellulose . . (3) Lactose,
(2) Starch L@ glycogen

. (3) Oxygen’
(4) Nitrogen .

03. Which of the folIowmg material is hydrohzed to supply two glucose molecules" '
(1) Lactose * (3)- Sucrose

_(2) Moltose. ‘ - (4) Fructose
04. Deﬁmency of which of the followmg element creates wealcness in teeth and bones'?

(1) Mg~ (2) Fe. © (3 Ca K.
05. The mternatwnal unit for measurmg welght is, ; St .
DN (2) Kg - )] (4) Pa
06 Which, of the followmg quantlty of a vehlchle that travels in a umform veloclty is mcreasmg ;
umformly" i . AR o 1 :

3) Deceleration ~

(1) Acceleration
(4) Momentum A

(2) Displacement

07 Whlch of the folIowmg is equal in the atoms 18Ar, K ?
‘ (3) Number of neutrons

(1) Number of protons”
(4) Mass'number

~ (2) Number.of electrons_
08. In the sodium ion tNtz*) _ ) i
- (1) Théreare 11 protons ‘ '
(2) There are 11 electrons
09 The veloc1ty of an object which moved 50 m away along a stralght line in 5 i is,
() 250m st ' f e ‘(3).45msTy
(2)551115,1 e i I ! 4) 10ms™?! s AR N

10 The maximum height that an object travels-which i is prOJected vemcally upwards with an m1t1a1

velocity of 10 m 5™ s, (g =10 ms“l) |
: (1) 5m
(2) 10m

(3) There are 12 protons
4) There are 12 electrons + . YA

‘c_(3).'15m
@4 20m.
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11,

12.

13.

14,

1s.

16.

-

. ? - ' 3
WhICh Ofthe following element is used to make nano spruptres * ¢
[OF:] \ @) S 5 "
ith the Y baate
When which of the following value takes the velocity of an obj ed e ! y
the momentum of 100 N m ‘ -1
(1) 80m s~ \ @ sms
- ak acidic 0x10€ O
Four oxides of elements i in the third period are shown below. What s the e : 2
of them? - g / 4) Cl207
(¢)) Nazo . K (2) Mgo (3) P205 |
st i ) 1S,
; : lrmrah
P, Q. R and S show four places where a horizontal force that can apply ;0 ?USh e Rys
What is the most suitable place through which the force can be applied? ! ‘ o Q.
e ; : "(')" il
SR @0 DA T

of 8N i 1s apphed on 1t The mass of

'

Which-of the following statement is mcorrect?
€)) The accelerat:on of an object is dlrectly proportmnal to the unbalanced force act on it.-

) The acceleratlon of an object is 1nd1rectly propotlonal to the thass of the object

3) An external unbalanced force does not act on an object whlch is at rest

. (4) There is an external unbalanced forLe to the dll'CCthll of motlon on an object that moves

17.

18.

19,

~:20.

’."

S ~ s

“with aumform 'velomty g 4 N

.

Which of the follomng 1nstance needs the fnctmn? -

(3) Makmg coires using coconut fibre. -

(1) Wearing of machine parts.” "~ £ 550
' e S (4) Motion of a yacht.

(2) Heating of machmes

Which of the followmg helps to. mamtam water balance and rigidity in'plant cells” ‘

(1) Mitochondria ° (3) Rhlbosomes

(4) Golgi complex

An ObJCCt Obtams an acceleratmn of 2ms~1 when a force
~ the object is, Gk T v ;
(1) 6kg @) Akg o BLERGT @ 1"’-9.

2) Vacuoles R . ¢ Tyl AR AL L 82

‘Which of the followmg graphs shows the motlon of’ an object with a deceleratlon'?

d £IETE d,

N SRR R BT e ¢
-Which of the foilo'iaring instance does not use mitosié? _ ' . b
* (1) Body growth of multicellular orgamsms o :
(2) Healing of wounds. .

(3) Gamete formation
(4) Asexual reproduction of lower orgamsms
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20 Th et { : . - ST
" Therelativg atomic masses of Mg and S respectively are 24 and 32. What mass of S contal

the number of atoms present in 69 of g ? )
,(1) 16 g ' @) 89 : : (3) 4g (4) 29...‘
. %% Which of the following gas makes a colour change when it is sent through lime water? . ;
E @ N, . O Co () CH,
\ ) h.v

N ' N \
23. Which of the following microorganism uses flagella for its locomotion? , )

(1) amoeba - (3) paramecium
(2) euglena ‘ »  (4) yeast
24', Which of the f°ll‘5Wing organism's cells don't contain an organized nucleus? - :
¢)) Rhizobium: (3) ‘amoeba
(2) Chlamidomonas (4) paramecium

~

2;. ‘Which of the following defmi;ion is most suitable for the word stiin‘!lus"
(1‘) Maintaining the internal environment of the body constant.
) A change in the internal or ext.emal environment.
(3)A chfmgp in the internal or external envirorment which is strong énough to bring about a
response. |

(4) Maintaining the coordination between organs in responding.

26. Which of the following plants makes seeds. ,
(1) Cycas o R - (3) Marchantia
(2) Sellaginella oy (4) Beanduru
27. Which of the follou}ing compound shows the features shown below.

e Conducts electricity through aquous solutions.
- e A solid crystalline compound. . : ‘
(1) CH, -~ (2) NHy P (3) NaCl' - (@) Coy,

-~

28. Which of the following instance applies a couple of forces? . © A

¢ . (1) Cloéing a door which is open (3) Drawing water using a pulley.
(2) Removing 2 nut using a spanor. (4) Untying alid which has threads.

29. In which of the following instance has the maximum resultant force on the object?

| 2N 2N
<+ \ L
' ZN’ ’ZN .3N‘ |2N ST | . ‘ﬂﬁ»
s 1) | 0)

@ @

30; Which ofthe followiné statement is correct regarding the epididymis of humans?

i . .(1) It forms sperms.

G (2) It transports sperms. : e ‘

© .. (3) Itstores'sperms temporarily. -
(4) It secrets the fluid needed to transport sperms.
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" 31 . A, B \ -
g "I‘iéa;]'d D are four Statements regarding the equilibrium of three inclined forces
Ines of actiq t. '
< B Th n of the three forces méet at a common poin
: g;h:i::zgl;ant of any two of the forces is equal to the third force in magmt“de and opposite
n, ;

C-
The three forces are coplanar : ' | ;

D- Th '
€ magnitude of the three forces is equal always.

8; Only 4 and g ‘ > . (3) Only ."l, BandC
OnlyA and¢ ' " . (4) Only A, C andD g
32, N
7 Whlch of the fo llowmg answers shows the unit of momentum when expressed using
fundamental unjtsy . L .
(1) kgms-1 - Ty (3) kg m’l e MG
) kgm's—2 o & @ kgm?sT 7 :

33.. t'It‘lhe dlagram below shows how forces actona l1ght rod Whnch of the followmg answer shows
€ moment of forces around the pomt‘? '

(1) 20 N m; anticlock wise, { | N N
'a . A i : ] A ) N
(2) 40 N m, anticlock wise. ~ b 5 ZQ'N--E Vool gamy o o0 10N -
(3) 80N m, anticlock wise, . . - ; );* : Do 2l e <
(4) 120N m, antlclock wise, 0. .. s | lZON
' 34. The new plast obtained by graftmg, i A ’

(1) shows only the features of he scion. i o
(2) shows only the features of the stock. . =~ :
(3) shows both features of the scion and 'the stock At it e L et
(4) doesn't show any feature of the scion and the stock : i Pl

35. Which of the followmg orgamsms is heterotrophlc‘7
" (1) Chlamidomonas
. (2) Marchantia ~

The relatlve atomic mass of carbon is 12 Whlch of the followmg answer shows the mass of

(3 ). Grass plant '
(4) Mucor

36.
one atom of Carbon? . S _
- o M (3) 22 L T Al (Y

Upiay 23 12 \ LT ,(3) 6.022 x1023 ,g_ R PRGN 2 N\
(2) 6.022 x 10*° x g Sy !y 6022 x10% ' e

, . W o Pk e
The veloc:ty of an obJect with the mass m increases form V; to V, within time t* thch of the WL,
following answers shows the rate of changing the momentum of the obj ect? | 3

37.
. (3) m(V, — Vi)t

3

QY —Va): T e i
= \ N .o m
@ ——~’"“’§ e I R N T

: 38 Thie organism that belongs to the phylum Echmodermata is,
© (3) Sea cobra |

(1) Starfish ; , R
(2 Sea horse - ' e e I (4) Sea cucumber

By 39 This causes due to the deficiency of iron and v1tamm B : o
(1) anaemia (2) tubercu1051s (3) haemophilia __ (4) goiter

40. Whlch of the followng is the direct effect due to controllmg the usage of fuel consumptlon‘?
1y decreases the watet foot print (3) increases the water foot Pm?t_, |
(2). decreases the carbon foot print . ~ (4) increases the carbon foot-prin .

] ' = '
E . ¥
/ s
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Grade 19

Second Term Test

 (sceiNcE -1

Time : 3 hour;'J

Extra reading time is 10_minits

anitc your answers in neat hand writing.
()f“ er the four questions in part A in the space provided.
the five questions in part B, answer three questions only.

After answering, tie part A and the answer script of part B together and hapd over.

g i Part A - Structured Essay

01, (4) Several species of animals and the number of animals belong to these species which are

identified in an exact lahd area in an ego sysetem are shown in the cage below,

Species f animal snail | butterfly | spider | leech | scorpion earthworm
Number 5 4 3 2 1 3
(i) Why animals shown in the ca_gé'are classified-as invertcbrates? - .
(ii) Complete ttle bar chart shown below using the data given in the cage.
En .
= 10 :
o - B
s 8 -
5 6 ‘
£ 4
LB 2 ~
&z B -4 species of animals s
= = = '
o= = e .
y = 7 =
: ., g 5 &
& K

i

(iii)  Annelids cannot be observed on the surfaces of dry environments. Explain the reason

)
L

for this scientifically.

P T T P T T PR P T T T

“

L T T T T P P PP T TT T T TYey

\

568

. .
e L L T L e e T e L e T L L LT L TN T LT OO R

---------------- OO L L L L L L L L e
.- Out of the animals given in the cage, on how many of them can a cuticle be observed?
........ .It
Mention a way how the quality of soil get increased due to the existance of earthworms.

U ST S Ay
esessasersnsnsnsnne pose
g y T

b

rl/l'
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W ' ' ree
Existance of butterﬂles is nmportant for the survival of ﬂowenng plants DO you ag

with this statement. Explam it, -

............
..................................

Sestanssasauvendsarney
seesuiveinstad . PP YT T L ELTE L L A
eresssasensnanans ssesssssnansrnen
seesensvminn

...............

(B) An organic cultivation and drop water managemnt could be seen in this eco system. .'

(vi)
@
(i)

T Answer the questtons gwen below usmg the dlagram glven above

; -‘Name the klngdoms shown as A and B m the above dlagram >

0

(i)

@ 1

i)

Mention two ways how organic cultivation helps for the well being of the solt

----------

-------------------------
---------------------------------------------------------------------------------

( Vertebr'ates :

A = ¥ . v L ! oy . e - B b .’ I : sesessverisnnasansnen . ..._..‘-‘.
Qut of the four kmgdoms above name the two kmgdoms that autotrophlc orgamsms

can be observed

A _‘ e i e B ............... i

........................................................

-----------

............................................................................

(B) A tiger attacked a herd of deer whlch were grazmg grass in a grassland One of a deer was

caught by the t1ger while the other deers ran away.

(1)

MEHtIOIl two charactenstlcs that could be observed in hvmg matter related to the above
phenomena . : l', ey & et
: "-'(a)-,. " : ' ‘.7 ' g S Bk Sy o
ST i e T

.+ (invertebrates) -
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(i) Flesh of deer contains lipids and prottens
: (a) Name the three elements that both these bio molecules contam

NTTTTCLLLCITLT TR LT P YT TTTTEL TR LI L L LE LA L b b
LRLY avinesneesasiain e .

" (i)  Mention two features that can be obscrvcd in the group 1 mammalla from the deer and

<+ tigher.

............................................ TP TTTTITTTTTTRTTRROTrreTres T T TTT UL T L R LI S Rt bbb

© (iv)  Mention the bio chemical reaction related to the nutrition of the grass plant.

03. The symbols belong to the elements in the thitd period are shown below. ., 5
: Na [Mg | AL [ SL | P | S5 | .| a7

_(i) Select the symbol of the element frem the above chart relevant to each and every qusetlon
belowandwnteltonthedottedlme R L o S o e R g P
(a) The element Wthh shows the least reactmty s etil | :
(b) The element which shows the max1mum electronegatmty T 20 -
(c) An amphoterlc element i i - e - SRR -
(d) The element wh1ch makes a pOSll;lVB ion by removmg an electron eas1ly ‘n\ .........
- (e The element that exixcs as a dlatoxmc molecule ..... EELY, M ke 0 ean _

(ii)' : Select the element which has chemlcal propertles very snmlar to the chermcal properhes of

the elementNe Wntethereason Foit: -2 ST W ONS

/

...........................

..................................

(ili) Ment:on the symbols of the two elments out of the above elght elements that have the

valency ome.

_(iv) ‘Mention,' , . W s
| (a) the formula ...femsssssinn e — RS RE RN it . 3
(b) a feature that can bé seen ..................... AN M A R : e Y ey
ISt |1} the compound made by combining Mg and Cl e ‘ o i E5O

W) LG molecule is made by combiniing C.and CL.

(a) How many covalent bonds are there Nit? s

(b) How many lone palrs are there in- 1t'? ..... e s
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’

- 04. (A) Three motion graphs relevant_ for three objects that move

d along a straight line are .shown as

(D@ and @3)° -3 B :
‘ E\‘P :,_../ ‘} |‘_‘1 . ]
¢ 18 :
g : g6
& =2, =
= €3 N time (s) : AR timer(;i') '

~~
-
o

Name the two graphs that show Ob_] ects moved wrth an acceleratlon

-------- oy seeny

(1) P (a) What is the physrcal quantity descrtbed by the gradlent of the graph (1)7
- : (b) Find the displacement done by the objeet ini 5 seconds if the gradlent of the gr aph (1).

----------------------------

| (iii) Find the rate of change of vcloc1ty of the' obJ ect usmg the data shown by graph (3)

EE LT TP o P TR PR e T P T T T T R LR R L L e e L L L L Lttt Ll L

(B) The dracram below shows a.rod kept horlzontally on two compressmn balances Aand B. P, Q :
- .and W are three forces act on the rod Readmgs of A and B balances 300N and ZOON :

: respectlvely
— J’ :
N N
® What are the forces act to balance the rod'? :
- aalw ce I SN A B S R SN D R SR :
@ . T he reactron of thc rod through the pomt X is P and through the pomt Yi is Q Flnd them h'
: L D i et o TR N ST RN SN PN .
) (iﬁ) . What i is the welght (W) of the L L— IR R AT A TP !... ’

i Gv) .. “The resultant moment through the point x due to W and Q forces 1s zero. So ﬁnd the

: drstance to the center of gravity of the rod from X

................

At wewwesssesssssmsieee s sase ses e L T P PP AN,
................
. 4 tessascsnnrans
----------

-------
-----------------------------------------------
-------------
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e lo sdghRes o
: . y Part B - Essay » ' 3 . ; ' ; ‘
ree questions out of questions no; 5,6,7,8,9 | ‘ | @

o . Answer only th
an electron microscopic diagram of a typical plant cell. , (OQ ‘3

05. (AJ The diagram below shows

1 nucleus membrane
A ~ nucleoli

- cell wall

M) Name 4, C and D in the diagram.
(i) - E does photosynthesrs

(a) What organelle is represented by E'?
(b) What substance present in E absords light energy needed for 1t‘?

(i)  Mention two functions done by the nuc[eus

-

(iv)  What part shown in the diagram is built up of cellulose‘7 : g s
: . ;
W) The action taken place in C is shown by the incomplete reactlon below.
CeHy1206 +P ——— energy + Q + water
Name Pand Q. = . \

(vi) Name the component present mostly in the cell sap? '
(vii) = Name a structure or an organelle present in the dragrarn that cannot be seen in a typical
. animal cell. - e g

(B) The diagrams (1) and (2) below show two cyclic processes taken place srmultaneously In the

body of a woman’ who is not pregnant
menstrual phase : .
N

(folecular phase : ' | / \
[uteal phasg) - scretory phase4-—._proliferation phase

‘ diagram (1) ‘ dlagram (2)

- (i) Connected with what parts of the reproductive system of a woman do the processes
: shown by the diagrams (1) an (2) take place? N
(i) (a) Name the two hormones that control the process shown by diagram (1)

(b) Name the endocrine gland that secrets them.
(c) The congentration of what hormone (in the blood) given below will be in a _

relatively higher valye in the secretory phase shown in the diagram (2)
(a) Oestrogen (b) Progesterone

(iii)  (a) How many da)rs vrill be taken to complete a cycle described above?
(b) After commencing the cycle ( 1), how long will it take to release ova completing

the follecular phasc?
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KL

06 (A) Three standard sym H 2 . 12

i Mention t : '
O G similariy ®) dissimilar™ s ) and 2H
that can be seen in the tWo a:(;{ ncli 2H 7
(i) What do you call the atoms 1% £0 * 0 e atom 13C
. (iii)  Answer the following questions 8 this atom f this-atom?
| (R Howoaany ReU o " l:;f:;zli?r the last energy Jevel 0 are there in it? -
are th toms
(b) How many eéectrons o corrcC tly. How manY_ a mber of at oms of above'? :
(ivy (a)12.00g of 12C is measur ty 1H has the similar nu oly) ' ' :
(b) In how many grams of the varle% . d 14 are 12 and ] respectively) . , i
(The relative atonnc masses of *¢C an i o 4
hown below:
(B) Chemical formula of four compounds are shDthfl s LT, : e .
i N, H,0 CH, NaCl o L S
‘ o ; o s \
(1) Of the above substances o \./
. (@) What is the element present with covelent bon 1S % nds?
(b) What are the two compounds present with covalent bo
9l
: (c) What is the compound with ionic bonds’ : e
- . (i) - Draw the lewis stucture of a molecule of the substance you rnentloned in p-’:lt ! n(e?{ 1(11)
.(iii)  (a) Name the two kinds of ions present ina cryseal of a substance you menti i
part (i), (c) . i : :
(b) Mention the immediate nob]e gaseous conﬁguratron possessed by each and every RAs
_ above mentioned ions. . 4 ke -5 iy
(c) Answer the. followmg questrons related to the two compounds NaN03 and
Ca(NO3),. s _ k R
- * (@) - Mention the Valencles of the lons mentloned below
(@ sodrum ion ‘ gy 23
(b) calcrumron s i e T L 7
(¢) nitrate ion (the radlcal mtrate) : : i
(i)  Mention the formula of alurmmum nitrate if the valency of alurmmum 1011

\

~18:3; _
07. (A) (D) Name the ph)‘rsical quantities mentionled beiow. i
(a) The distance travelled by an object-in a unit time.
(b) The rate of change of displacement of a moving object
(c) The rate of change of velocity of a moving object, _
~ (ii) Mention the standard lnternatlonal unit of the physlcal quantity you mentloned n part

(1) (C) above.
‘(i) The graph below shows how the dlsplacement of an abject 1 movmg along a Straigh‘t ™ .

fvarres w1th the tlme Answer the parts (a) (b)and (c) using the graph

Jr | - o ,

................................................

displacement ( m)
|

CamsScanner


https://v3.camscanner.com/user/download

7 (a) What is the time that the object was at rest while moving?
"~ (b) (i) In which instance within the two.time durations given below is the velocity of”
the object higher? : : ' '
(1) (0 —3)s ()7 -11)s
_(ii) Explain your answer using the graph.
(¢) Considering the whole motion,
(i) . Find the total drsplacement of the object.
. (i1) . " Find the normal velocrty of the object.

(B) A, B and C show three objects on which two fortes act on the same tines' of action.

e i A QTR LU T 4__'_>' ey >
3N _ 3N - 5N [~ " [T3y 3N " |sN
(1) S P T 3) v
(i) - Mention the magnitude of the resultant forces act on the objects in, the mstances )
3 aud (3) . i.. 5 : E [ o

(ii)  Inthe instance (2) object moves If 50,
: (a) Mentron the nature of the motlon of the obJect , : e
. (b) If the mass of the ObJE:Ct Bis 1 kg, ﬁnd the value- of the physrcal quantrty you
~ mentioned in part (a) - ; :

(c) “Will the value of the phys1cal quantrty you menhoned in part (b) above mcrease ;

-~ ~Tor decrease when the above - rnentloned system/of forces appIy on B keepmg _
- another kg extra mass onit?” - : TR

(iii)_ g & What is the ob_|ect out of A B and C that behaves accordmg of the newtons first law ‘

¥

'r.

08 (A) It was observed two kmds of ﬂowers as staminate ﬂowers and p1st11ate ﬂowers mna boftle gourd
Creeper. Number of stammate ﬂowers was hi g,her than the number of plstrlate ﬂowers

(1) I the bottle gourd plant monecrous or d1oe01ous‘7 ' : :
(ii) : (a) by.self pollmatlon Or Cross polhnatron is the bottlegourd ﬂowers polhnated?
_ - (b) Wnte an observation that proves it using the paragrph. :
(111) " Mention the poIImatrng agent of the bottle gourd plant. : ol
(iv) Explarn the advantage obtained by having more staminate flowers than plst1lateﬂowers
(v) - The rough dragrams of the two kinds of flowers are shown below '

\\f@@

dragram @) .23 dlagram (2)
 (a) Mention the number of the dragram that represents pistilate flowers and stammate

: flowers separately. - : : : e =
(b) What is the specific process that should be taken place to convert ova. mto seeds i in '

. pistilate flowers after pollination?
(c) Ater.completing the process you mentioned i in part (b) above to what structure does

the ovary of pistilate flower convert'?

-
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(B) An object which is projected vertically upwards with an initial velocity of 30 ms 'l_,zcomes
to the initial position after completing its motion. (acceleration due to gravity i8 = 1'0 ms™°)
) Draw the velocity — time graph that represents the motion of the object.
(i) Find the things below using the g,raph you drew.
(a) What is the maximum height the object rises?
(b) What is the total distance that the object travels?
(¢) What is the total displacement of the object? - e tion of

(i)  What is the correct statement out of (a) and (b) that represent th

the object, ' , g
(a) The object travels ‘with an acceleration of. 10 m s~2 during the whole time
duration of motion. . '
,. _ (b) The object travels with an ‘acceleration of — ~10m S—z during the whole time
duration of motion. ' :
velooity of 40ms~1,

(iv)  If the object was projected vertically upwards with an 1nt1al
what is the extra height that the object rises? ‘

09. (A) Electronic configurations of four hypothet1c elements are shown below Answer the followmg

questions using them.

A2 E—2,7 D- 2,8,1- ' G—287
(i) What is more electropos1t1ve element outof A andD? 9 :
(ii) What is more electronegative element out of E and G?.

‘(iii) - What are the two elements that should react together to make the compoun w1th the most

strong ionic bonds?
-(iv):  The-element G can be observed in the natural envnronment as. molecules Show in a

. dot-cross diagram the nature of bond structure of a molécule of G.
. W The mass number of Dis 23. = i ne
(a) How many electrons are there in an n atom of D?
(b) How many neutrons ar¢ there in an atom of D?
(c) Repersent the element D in a standard way usmg the atormc number and mass number

: of it .
- (B) The d1agram below shows a block of wood whlch 18 kept restona mugh table AR

G@ - (a) Expalin the force R. i | g p | | g
. (b) What is the value of R? ' ; L HIFATFIIITIIIIIIL, o ¥

(ii) " The block of wood was furthur at rest in an 1nstance of applymg a force of 4N to the ™ °

_direction shown as Q.. : : ,
(a) Mention the kind of frictional force act in thls instance.

_(b) 'What is the magnitude of it? >

- 7 (c) What is the direction of 1t’7 - -
i (iii) - When the force applled to the d1rectlon of Q is mcreasmg,, the block of wood beglns to

move in the instance when the force is 7N. |
(a) What is magnitude of the frictional force act in this 1nstance?

_ '(b) What do you call it? ‘ s R S
' (a) What do you call the frictional force that act.in the instance of movmg the block of

‘wood uniformly on the table to the direction of Q?
(b) Is the value ofit hlgh or law to the value of part (111) (a) above?-

i)

’ [
‘ : C ] v -
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